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Find all b so that Az = b is consistent. Plot the set of such b. Explain your answer.
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Plot (and label) the set of solutions to Az = 0. Choose a nonzero b so that Az = b is
consistent and plot (and label) the solutions to Az =b
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Is there a vector b in R? so that the solutions to Az = b is the line z + y = 67 If so, find
such a b; if not, explain why not.

X*\1= (b IS Pam\\w\ Yo X+y=0 So

Prre Vs o chance

b
\ \\b1 M(‘ \\ \
%\o‘ o o\ O

oy =

Solns X‘\—U\ 3



2. The traffic in the town square is described by the following diagram (The arrows indicate
the directions of one way streets and the labels indicate the number of cars per hour).
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Write down a system of linear equations that describes the flow of traffic in the town square.
Xy + Yo = 200
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Write down the corresponding augmented matrix and find its reduced row echelon form.
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What is the parametric form of the solution to the linear system?
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What will be the traffic on each street if the street labeled x4 is closed for construction?

To make X4 =0 <t Xg =-LO

Nee fo Changg. the difeckion of

Pee Ys  Streek

%, +40
XA 1160

S VTN
O

What if instead the street ln.lml&ﬁ:?is closed’for construction? How can traffic be rerouted?
(You may need to change the directions of some one way streets.)

ge/l( X © -\00 Omo\l OL%a\"V\ rener e,
the direcion So thr's

\DQ,COW\-Q.S +\ooy .



